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SA AR
B Aphel AR As)
gelr g 23 - 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A0 Ol & 2= (KIREA) 56,000 4,034,750 A3,978,750
= 28,000
== 28,000
308 AHXIEMSOIE 56,000 4,034,750 A3,978,750
= 28,000
< 28,000
18 SIS0t AS A 56,000 56,000 0
OcAZol01eE AE AL 56,000
= 28,000
= 28,000
ANE2e|0Y SEAHI 502,200 1,848,840 1,346,640
= 405,000
=S 97,200
403 MR SHHMSAH=01H 502,200 1,848,840 A1,346,640
= 405,000
< 97,200
01 A= 2L 502,200 1,848,840 1,346,640
OXtg2clogd |54 A& 502,200
= 405,000
= 97,200
NS A 626,280 606,280 20,000
201 2= 10,000 10,000 0
01 At22t2lt] 10,000 10,000 0
OHXNLYBIS IHE 8 S 10,000
308 XXM SO0l 616,280 566,280 50,000
01 XN BSELES 616,280 566,280 50,000
OUZNA(FER) atd =4 45,900
ONdNeY X2z Xd 550,000
OxgE 2letE SItAte] =0 20,380
gz 24 1,026,810 990,860 35,950
201 =3 719,350 693,350 26,000
01 At2t2lt] 43,350 43,350 0
oogx=dzd 43,350
2 35234l 676,000 650,000 26,000
Os&82= € MA 191,500
Oder= bl 484,500
202 04| 49,525 34,850 14,675
01 =LHOHI 22,300 10,100 12,200
O0EXE & 4ty X2 22,300
02 XN 27,225 24,750 2,475
OGN =L 27,225
308 AHXIEMSOIH 7,935 12,660 N4, 725




SA AR
B Aphel AR As)
gelr g 23 - 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 JIEtRE3 7,935 12,660 N4, 725
O=d0lg &=J12 2x3 7,93
401 Al HIX S0 250,000 250,000
01 AlZH| 250,000 250,000
ONgN=d FIl==2ltl 250,000
HSH2ACMNRL 2Y 64,920 22,300 42,620
201 et 3| 64,920 22,300 42,620
01 AtR2te|Hl 10,000 4,000 6,000
OZCIAMRA AR 2EH| 10,000
2 35244l 54,920 18,300 36,620
OZeIMNRA SS2EH| 54,920
&AL OIZAIAE 15 84,800 63,700 21,100
= 42,400
< 42,400
403 AXIEtMSAH=01d 84,800 63,700 21,100
= 42,400
= 42,400
01 AXISHA=2E2 X 84,800 63,700 21,100
ONE AL HIZAIAE 2= XIJ 84,800
= 42,400
= 42,400
g fUXEZ HHE2= 630,000 410,000 220,000
= 315,000
== 315,000
403 AXIEHMSAH=0ld 630,000 410,000 220,000
= 315,000
< 315,000
01 MXIHHA 22X 630,000 410,000 220,000
=012 - Zdl, ddI€X - M X 630,000
= 315,000
= 315,000
HEHENHAES 711,000 1,218,860 507,860
= 630,000
=S 81,000
308 AHXIEMSOIE 711,000 1,218,860 /507,860
= 630,000
< 81,000
01 XN BSELES 711,000 1,218,860 507,860
Ozlgd M2 o+ 22 711,000
= 630,000
== 81,000
=M B - |4 23,639,764 14,311,797 9,327,967
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B A0l AR As)
ol =M 25 - |54 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9,500,547
=S 11,559,217
= 2,580,000
ORI Y 95,400 106,000 10,600
403 AXIEHHSAH=201H 95,400 106,000 10,600
01 XM A=E £ 95,400 106,000 210,600
Oold etZiid 95,400
oHEH AT Bt o 1,865,660 2,3%,600 A529,940
308 XXM SOIA 1,188,560 1,570,600 A382,040
01 XN BSELES 1,188,560 1,570,600 382,040
OReg & M Xd 470,400
O2Al=it2 Mol2E82 XA 148,960
OFE N2 =4 204,300
ofal Malgd =4 X2 240,000
OXts +=2 =3J| =Al2c 10,500
OXNESa =tt= X2 14,400
O HAEs 7Y okl ES8| A& 100,000
403 AXIEHHSAH=201H 677,100 825,000 147,900
01 XIS A=E £ 677,100 825,000 147,900
O= zS3AE X 98,400
Os4 2Aal0g JIgtAle X 83,000
OdiaItFel A AEIIAM & &5 X
2 81,000
Osgs 54 Xd 205,200
OLHX 28 =20 1H(RAS) SHAAZ =4 72,000
OINFHZ THA Al A 72,000
OALNIE SHASAE &4 K& 32,000
OANE MEMNS HH| XI& 28,500
QB AL (HEALY) 4,099,000 3,099,000 1,000,000
== 1,869,000
= 2,230,000
308 AHXIHMSO0IA 796,000 796,000
13 S I2S0He 4 A AS A 796,000 796,000
Otttt=&, ttli=, iSe FAl2el 250,000
Odisaxd 200,000
ON=01& 2 346,000
401 Al HIZ S OHbI 3,303,000 2,303,000 1,000,000
== 1,073,000
= 2,230,000
01 Al&HI 3,300,000 2,300,000 1,000,000
OISO EAIZAIS 3,300,000
< 1,070,000
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&t =M B - |4 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
£ 2,230,000
03 A& 2 0HYI 3,000 3,000 0
OLIESHZAIE A 3,000
=2 U3 450,000 450,000 0
= 450,000
403 REXISHHS K201 & 450,000 450,000 0
= 450,000
01 HXISHAE2ER 450,000 450,000 0
O0lat== tHE K& M 450,000
= 450,000
SAPES X2 (M EANY) 2,508,050 2,508,050
308 AHXIHMSOIH 2,508,050 2,508,050
01 AXSHHBLERS 2,308,050 2,308,050
O NS = 2,308,050
13 SI |2 SOICHEH B & XL E AL 200,000 200,000 0
OSNHLFZWMETA 200,000
SAUE 22| (A2ZA) (HEAIY) 1,629,750 1,629,750
308 AXISHMSO0IA 1,629,750 1,629,750
01 AXESHHZAEEZ 1,629,750 1,629,750
O2A0E Z3t 696,000
OLAERUZ AR 778,125
O=tt2 NEE £X 155,625
IERHEEZ K& 223,714 356,407 A132,693
= 174,000
& 49,714
403 REXISHIS K201 & 223,714 356,407 A132,693
= 174,000
& 49,714
01 IXISHHAEER 223,714 356,407 A132,693
OlEeE 232 X 223,714
= 174,000
T 49,714
HSZENHXEZ2(GIEEE) 2,766,450 2,766,450 0
= 2,593,547
= 172,903
403 REXISHHIS K201 & 2,766,450 2,766,450 0
= 2,593,547
& 172,903
01 XEXIEHI A= 2 2 2,766,450 2,766,450 0
OrSENUX ES(3IEBX) 2,766,450
= 2,593,547
& 172,903
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ol =M 25 - |54 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOl ME P MAL (£72H) 38,940 38,940 0

= 33,000
== 5,940
308 AXIMSOIA 38,940 38,940 0
= 33,000
< 5,940
01 HASHHBAEEXS 38,940 38,940 0
OFHdE ()P MA 38,940
= 33,000
= 5,940
AR A AE T LA (SHEE X R) 330,000 300,000 30,000
308 XXM SOIA 330,000 300,000 30,000
01 AXENBELES 330,000 300,000 30,000
Ot M A S TE ALY 330,000
HATIOHOI L X & (M EHALRY) 1,186,800 395,600 791,200
403 MR HHMSAHE01H 1,186,800 395,600 791,200
01 AXISHHA 22 % 1,186,800 395,600 791,200
OIIFClAld S At 1,186,800
LANENSSAIE HHIXIZ (HEALY) 186,000 186,000 0
403 AXIEHHSAH=201H 186,000 186,000
01 HXIHHA =22 xR 186,000 186,000
O ANSAIE & 186,000
BEOZE THHA 1,500,000 0 1,500,000
= 1,250,000
s 250,000
308 XXM SOl 1,500,000 0 1,500,000
= 1,250,000
[ 250,000
01 XN B2 LS 1,500,000 0 1,500,000
OFFNHE MEA 1,500,000
= 1,250,000
= 250,000
BTHOHE UM JIZ=ZA 500,000 0 500,000
[ 150,000
= 350,000
308 XtXIEMSO0IE 500,000 0 500,000
= 150,000
= 350,000
18 SIS0t oA AS A 500,000 0 500,000
OFENHE MYAIY JI=ZA 500,000
= 150,000
= 350,000
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AR N Wy
B A0l AR As)
el =M RE 22 - 5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A0S S8 Z2UHE 2 NSHO CIoIE 25 60,000 60,000
308 XXM SOIA 60,000 60,000
01 XN B2 LS 60,000 60,000
O%NE S& 2UHE & ISHO HOoIH
-5 60,000
offet CHEFM A Ald &y 6,200,000 0 6,200,000
= 5,000,000
= 1,200,000
308 AFAIEHMSOIE 6,200,000 0 6,200,000
= 5,000,000
= 1,200,000
01 AXEH B2 LS 6,200,000 0 6,200,000
Odliat tHgrdlal Al =4 6,200,000
= 5,000,000
== 1,200,000
OHE - og HE 50,466,456 51,877,509 1,411,063
[ 30,419,697
S 20,046,759
NXHZel () HeHa (AlEH]) (M EAY) 13,130,000 13,130,000 0
401 Al HIZ R 0HHI 13,130,000 13,130,000 0
01 AlZ8| 12,600,000 13,100,000 A500,000
OXgoig A4 12,600,000
02 2l 500,000 0 500,000
OoXgog A4 500,000
03 Al 2 0HHI 30,000 30,000 0
OXNgoig A4 30,000
HgE=22 X2 1,177,500 1,387,500 /210,000
403 AXIEHMSA=0l1d 1,177,500 1,387,500 A210,000
01 MXIHH A 22 1,177,500 1,387,500 A210,000
Oolg 222 1,177,500
AF0H Q12D EX(HEAY) 263,590 263,590
403 AXIEHHSAH=201H 263,590 263,590
01 AR A =2 £ 263,590 263,590
OAgod I X 263,590
SEIs REDAIE SX(HEAY) 1,175,200 1,175,200 0
403 MR SHHMSAH=01H 1,175,200 1,175,200
01 AXISHHA 22 £ 1,175,200 1,175,200
O=gnls FHUAIE £X 1,175,200
Sgthlis R&uAE £X 30,000 75,000 /45,000
403 MR EHSAHE01H 30,000 75,000 245,000
01 MXIHHA 22 30,000 75,000 /45,000
Oz OEA F&n €X 30,000




AR N Wy

B Aphe) AR As)

Rl oE - OE OHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HESHEAIY HRFA 12,750 12,750

201 er23 | 12,750 12,750
01 At2teltl 12,750 12,750
OUHEHSTHYAIS (U E7E300AH, 01EL
2AHSTAY) GRF8 12,750
HEFZ300AH (4%1) 23,897,231 17,557,150 6,340,081
[ 21,174,762
= 2,722,469
403 AXIEHHS X201 23,897,231 17,557,180 6,340,081
[ 21,174,762
= 2,722,469
01 AXISHHA=2E XL 23,897,231 17,557,150 6,340,081
O E=E300AH 4%t 23,897,231
s 21,174,762
== 2,722,469
HEESESIXNE AEA 1,106,000 1,659,000 /553,000
[ 980,000
S 126,000
403 AXIEHHSA=01d 1,106,000 1,659,000 553,000
[ 980,000
= 126,000
01 AXIEHM A =2 £ 1,106,000 1,659,000 /553,000
ONZEEASTRNE AMEAS 1,106,000
= 980,000
S 126,000
HEMESASTAIL(1R}) 9,674,185 0 9,674,185
= 8,264,935
[ 1,400,250
403 MR HHMSAHE01H 9,674,185 0 9,674,185
[ 8,264,935
= 1,409,250
01 MHXIHHA 22X 9,674,185 0 9,674,185
OO EASHASTAIS(1XH) 9,674,185
[ 8,264,935
= 1,409,250
HRES(=AAHD) 702,250 344,750 357,500
WS HRHRIE= (5=t ) 702,250 344,750 367,500
NSRRI = O~ 0l Attt 702,250 344,750 367,500
705 Ol==dclsdet 702,250 344,750 357,500
04 Al - SXISHE D= 0+== 01 ktat et 702,250 344,750 357,500
OAEXEIEI IS ti==2 S0l tiet Ok
ge(Rgolgay) 660,250
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